CHAPTER FIVE

VERB STEM ELEMENTS

The verb stem consists of several classes of morphemes, some obligatory and others
optional. The main slots are shown in chart 98, where obligatory slots are headed in small
capitals. Minimally, there is a verb root followed by one of three primary aspect suffixes,
Habitual (HAB), Punctual (PUNC), and Stative (STAT),” or a special aspect limited to verbs
of motion, Purposive (PURP). Although not semantically a true aspect, the Imperative (IMP)
is traditionally treated with them (Lounsbury 1953, Chafe 1967) since it occupies the same
distributional slot, and so will be here as well. Another occupant of this slot is the Stative
Plural (STAT.PL). Optional expansions include reflexive and nominal positions before the
verb root, derivational suffixes after, temporals mixed in with the aspects,” and attributives
at the end of the word.

The terms stem and base have varied definitions in the Iroquoian literature. Chafe
(1967), in discussing Seneca, used the term verb stem to include all slots from the reflexives
to the aspects. Chafe (1967) and Lounsbury (1953) (for Oneida) used the term verb base to

include just the slots from the reflexives to the derivational suffixes. The temporals and

The Habitual is an imperfective, the Punctual a perfective. The Stative has many
uses, including a perfect.

"Although temporals are optional and aspects are obligatory, they occupy the same
morphological slot. Their relative ordering is complex, so in chart (98) they are represented
in adjacent cells separated by a dashed line. See section 5.4 Aspects and Temporals.
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aspects were classed by Lounsbury (1953) as inflectional suffixes. Here verb stem is simply

used to indicate all verbal roots and affixes occurring after the pronominal prefix.

— | —
Reflexive | Nominal | Vers | Defivarional | ASPECT | p.,.. | Atributive
X
SEMI noun verb | CAUS HAB erROG AUG
REFL | verb-NOM BEN PUNC | PAST |DIM
DISLOC  |STAT | CHAR
DISTR  |IMP | POP
INCH  |PURP |
INST STATPL |
UNDO |

Chart 98: Verb Stem Slots

The reflexives include the Semireflexive (SEMI) and full Reflexive (REFL). The
nominal position contains an incorporated noun root, or a verb root followed by the
Nominalizer (NOM) (see chapter 6: Nouns). Noun incorporation can be recursive.

The group of derivational suffixes after the verb root is referred to as the root suffixes
by Chafe (1967), while Lounsbury (1953) divides these into suffixes forming a complex verb
stem, case positions, and a purposive position (for his Purposive morpheme, which is
currently called the Dislocative). The morphemes concerned are the Inchoative (INCH),
Causative (CAUS), Undoer (UNDO), Instrumental (IN ST), Distributive (DISTR),
Benefactive (BEN), and Dislocative (DISLOC).

Temporals are those suffixes which enhance aspect suffixes, occupying the same slot.

They are often called post-aspectual suffixes, although they are not completely restricted to
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appearing after the aspects. A temporal can allow multiple aspects to appear, in varying
orders. The temporals include the Progressive (PROG) and Past (PAST).

Attributives are the Augmentative (AUG), Diminutive (DIM), Characterizer (CHAR),
and Populative (POP).

There are additional morphemes found in other Northern Iroquoian languages found
in the verb stem slots, but that do not appear in the Wyandot text corpus. These include the
Ambulative, Directive, Intensifier (derivational suffixes); Eventuative, Facilitative, Modalizer

(temporals); Customary, Decessive, Pluralizer, and Typicalizer (attributives).

5.1 Reflexives

Members of the reflexive slot are the Semireflexive (SEMI) and the Reflexive (REFL).

5.1.1 Semireflexive (SEMI)

According to Lounsbury (1953:74), the Semireflexive (SEMI) in Oneida indicates
"semi-reflexive action upon something belonging to the doer”. Chafe (1967:26) adds that for
the Seneca cognate the "meaning of the base immediately involves or affects the person or
thing denoted by the pronominal prefix.... roughly comparable to the middle voice of some
Indo-European languages”. Both also indicate that the Semireflexive detransitivizes transitive
verbs, and in some instances has idiosyncratic effects. In Wyandot the Semireflexive can be
used to indicate action performed by the performer for the performer. In 266 the

Semireflexive indicates that the performer of 'wash' is also the recipient of the action.
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(266) ..astt saad’tat
aste sad tat
s=(hja-Ya?t-a-t
REP-MASC,sg,AGT-body-JOIN-stand.STAT
‘outside he stands

hakQresuhare¢...

hakgréhsuhareh

h-at=yqQres-uhare-h

MASC,sg, AGT-SEMI-hand-wash-HAB
his hands washes'

[he] was washing his hands outside.
TN:38:301:37-39

A second use in Wyandot is as a detransitivizer. Note that the verb ~tsg='cure’ takes

a transitive pronominal prefix, -Aayu='they:somebody’, in 267:

(267) ...nahari-wi‘ca:
nahari:wih3a:
n-a=ha-rihw-ih3a:
TEMP-FACT-MASC,sg, AGT-law-look.for. PUNC
now he enquires

hatijayariht’“tg neng’
hatiZayurihi?te nQné?
hati-Yayu-rihw-u?te
how-FEM.IND,sg,PAT-law-kind. STAT

what their customs when

ahtg-taha

ahqté:tiha?

a=hg-at¢-ta~ha?
FACT-MASC,pl,AGT-SEMI-hire-PUNC
they onebody hire
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daha-yutsgC...

daha synitseh

d-a-hayu-tsg-h
PART-FACT-MASC,non.sg:FEM.IND,sg, AGT-cure-PUNC
that they doctor’ (‘they cure people')

he inquired about their customs in the hiring of medicine-men
TN:34:279:45-51

When the recipient of curing is not mentioned, an intransitive pronominal prefix is used in

combination with the Semireflexive, as in 268:

(268) .."da'® a-rargha’

da:é? d:ruréha?
a~-reurg-ha?
FACT-MASC,sg,AGT-find-PUNC
'that one he found out
dé-rdmé¢ hatétsgs
dé:rqwéh haté:tsehs
de-r=qwe=h h-ate-tsg=hs
SUBST-MASC,sg,AGT-person-NOUN MASC,sg, AGT-SEMI-cure-HAB
the he person he doctors

hata)¢ yareh¢ "ga’
hataih yarihgdya?

ya-rihw=qdi-a?

FEM.ZOIC,sg, AGT-law-make-PUNC
what is it the cause

du‘catuha’

duhSatuha?

d-u=hSatur-ha?
SUBST-FEM.ZOIC,sg,PAT-sick-STAT
that she is sick
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dé yawing..
de  yawimng¢h
ya=winQ-h
FEM.ZOIC,sg, AGT-pretty-STAT
the  sheis young'
The Indian doctor was the one who had discovered the cause of the young woman's
trouble.
TN:34:282:29-38
Notice that Aatétsghs 'he doctors' refers to a habitual activity, rather than specific actions of
curing. Instead of a transitive pronominal prefix there is an intransitive and the Semireflexive.
The Semireflexive is also quite common in idiosyncratic uses. The verb =arQtQ- ‘ask’

always takes the Semireflexive, as in 269. No instance of this verb without that prefix has

been found.

(269) ...Gwa’ha %’ tihusa-re’

uwa?hg:?g? tuhusd:re?
tu=h=usaer-e=?
REM-TRANS-REP.FACT-MASC,sg, AGT-go-PUNC

‘another one there back he goes

kanQcag’

kanghSaé?

t=ya=nQh$-a-Ye=?

CISLOC-FEM.ZOIC,sg,AGT-house-JOIN-have-STAT

the house to
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ahatargto’ "da-)*tara’

ahdmargte? di:ara?
a=h-at-arqtQ=? da?tar-a?
FACT-MASC,sg, AGT-SEMI-ask-PUNC bread-NOUN
he asks for bread'™

Another one went to the house and asked for some bread.
TN:03:075:08-12

The primary allomorphs of the Semireflexive are =ate- and -at-. The allomorph

=ate= occurs before most consonants, including y (examples 270 - 272):

(270) ..t4¢ ahakg’
tth  ahdkye?
a=h-at-Ye¢-?
FACT-MASC,sg,AGT-SEMI-sit.down-PUNC
‘there he sits

ahatéda’*tsang-cro’...

ahatedd ?tsan¢:¥rq?

a=h=-ate-da?ts-a-ngsrg-7

FACT-MASC,sg, AGT-SEMI-kettle-JOIN-turn.over-PUNC
he kettle turns over (himself)'

Turning the kettle upside down he hid himself under it.
TN:37:299:66-69

(271) dehatéts§’‘ska’
dehatetsé¢?ska?
de=h-ate=ts¢=7s-ka?
SUBST-MASC,sg,AGT-SEMI-cure-HAB-CHAR
'that he self doctor be' ('he is a doctor')
WM:116

"*Anomalous missing pronominal prefix.
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(272) tusajate-yg
tusaZaté:ye
teusa-Z-ate-ye
DU-REP.FACT-NON.MASC,dl,AGT-SEMI-see.PUNC
‘there again they each other saw' ('they saw each other there again’)
TN:20:149:33-34

The allomorph -at- appears before vowels and r(examples 273 - 275):

(273) ..ng¢ tasawatd’*tatd‘crac
n¢h  tusawatd?tatghsrah
t-usa=weat=atatQhs-r-ah
DU-REP.FACT-FEM.ZOIC,sg,AGT-SEMI-basket-put.away-PUNC
'now there again she basket takes

nah(‘skg ’cra deyulcaharg"t
nahihskyq?¥rah deyuhSahdret
n=a=-hu~hskyg-23r-ah
TEMP-FACT-MASC,sg,PAT-love-DISLOC-PUNC

now she (to) him goes to make love the Y. (n.)

e'jard’'se...

e:fard 7se?

e=1Z-aralse="7
X-MASC,dl,AGT-cousin-STAT
his cousin'

The young woman then took up the basket and went away to make love to
Yucaharet's cousin.
TN:04:080:35-40
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(274) ..tGh@°%’ de

tuhj?ra? de
'that is all only that

hada’*tdmétsatakwghake’...

hudatowétsatahkwéha :kye?

hud-at-qQwets-a=tahkw=-gh-akye=?
MASC,non.sg,PAT-SEMI-land-JOIN-go.round-STAT-PROG-STAT
they (2) the land round going'

In the same manner they kept on travelling all about the land.
TN:04:086:26-29

(275) ..dae it de
dae? it de
[i]=it
1,s¢,AGT-mean.STAT
'thatthing [ meant the

hatija’tadurg’ de
hatiZa?tadurg? de
hati=Ya?t-a=durq-?
MASC,pl,AGT-body-JOIN-difficult-STAT

chiefs the

hadatrih¢’°tg’...

hudatrihgtq?

hud-at-rihw=qt=(h)g-?

MASC,non.sg,PAT-SEMI-law-tie-DISTR-STAT

they office hold'

I [wanted you to invite] those who stand above the others in rank, that is, the chiefs,
TN:28:243:05-10

Another allomorph, the result of the rule altemnating tand & before glides (see section

2.15 Further Notes on'y), is ~ak-, which appears before w; as in 276, and Y, as in 277:
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(276)

@m)

...Cihi a’*yakwg ""diha’
Sihi a?yakwediha?

al-y-at-wed-jha=?

FACT-1,sg, AGT-SEMI-voice-shout-PUNC
'from a long distance I shouted to

yarghétsits

yarghétsihs

ya=r¢gh=etsi=hs
FEM.ZOIC,sg,AGT-tree.top-long-STAT.PL
the trees tall

karhitg-fiQ’

karhitq:myq?

t-ya=rhi-t=(h)onyQ=-?

CISLOC-FEM.ZOIC,sg, AGT-tree-stand-DISTR-STAT
where trees stand many

ta-di kadurg>--
t:di? kadurg?

t-ya=-durQ-?

CISLOC-FEM.ZOIC,sg, AGT-difficult-STAT
there to the difficult places'

For those to whom I have shouted, from a distance, 'Here is my face!’ were only the
tall pine trees in the woods and the steep hills.

TN:28:242:45-50

..dad ahékatu-ri

daé? ahakya?tu:ri
a~-h-at-Ya?t=uri

FACT-MASC,sg, AGT-SEMI-body-cover.PUNC
'that one he his body covered
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de katgskwerot yagé-ha...
de kyutgskwerght n
(with) the the cattle its skin’'

he wrapped himself up in the ox's hide
TN:29:258:49-53

The allomorph -ak- can also occur before y. However, in this case this allomorph
overlaps the following morpheme, replacing the y, i.e. -a[k]= (see 2.15 Further Notes onYy).
This can be seen in the following examples. In 278 the tof -a¢- merges with the following

Y(=yphs-"face"), leaving =ak=:

(278) ..néwa*%w’ ng
newd?tu?  n¢h
'once more  now

sahgomak¢‘cutadi-ha’

sahowak¢hSutadizha?

s=a=hQw=-at-yQhS=ut-a-di-ha?
REP-FACT-3,non.sg:MASC,sg-SEMI-face-stick-JOIN-BEN-PUNC
again one body (to) him shows (his) face (invites)

du-sajé-"drawaC...

du:saZé:drawah

d-uisa-Ye=-draw-ah
PART-OPT.REP-FEM.IND,sg, AGT-dance-PUNC
that again one-body dances™

Once again a messenger, showing his face, invited the Owl to a dance
TN:24:188:51-189:02

"'For the reason for the missing phonemicization of this word, see section 2.10
Further Notes on g.

[t is not clear why ¥ appears as Zhere, insteda of &
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In 279 the tand y (=yg='see’) merge into &

(279) ..ayak§ ‘set dé- skat s&*da'mgc..
ayaké:2seh dé:  skit sd?daiwéh
ay-at-yeg=7s=ch sa=2d-awe=h
1,sg,PAT-SEMI-see-BEN-IMP 2,5g,PAT-arrow-have-STAT
'T want to see (let me see it) that one thee arrow hast
Let me see your arrow!
TN:26:202:57-60

The allomorph -atg- appears before some dand ¢roots.” In 280 -4t~ appears

before d(-ding-"buy’) while in 281 before ¢(=tgr='fort'):

(280) ..ng¢ humg:"gé-ri¢

n¢h  huwg:dyé:rih

hu-wedyeri=h
MASC,sg,PAT-willing-STAT

now he was content

tuh@’%ra’ saharé'-mawa’
tuhg ?rg? sahar¢:wawa?
S=a=ha=rqw-a-wea?
REP-FACT-MASC,sg,AGT-remove-JOIN-CAUS-PUNC
that is all (therefrom) back he went

dae ahétg: "ding¢
daé? ahate:dingh

a=h-at¢-dinQ-h

FACT-MASC,sg, AGT-SEMI-buy-PUNC
that one he it had traded

PIf this allomorph only appeared before distems, it would be possible to analyze the
nasality of gas spreading phonetic nasalization from d| eliminating this allomorph in favor of
-ate-. However, this would not account for #stems.
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daXkatraha’ dé  kitd‘skwérot...

da?kyatraha? de  kyutghskwerqht
d-a?-ky-atra-ha?

PART-FACT-1,IN,d,AGT-meet-PUNC

when they two met the ox'

Now the boy was willing to barter his ox [with the stranger].
TN:27:222:05-15

(281) d&ta datéts r dic
detudatété:rodih
de-t=-(h)ud-atg=ter-qdi-h
SUBST-CISLOC-MASC,non.sg,PAT-SEMI-fort-make-STAT

'that both (vague duality) they (m.pl.) self palisade to make' (‘they built a fort")
WM:285

As discussed in chapter 3: Pronominal Prefixes, many pronominal prefixes have forms
which overlap A-stems, such as =h[Q]- masculine plural agent. This holds for the
Semireflexive as much as for other A-stems. So, for each of the forms discussed above, there
is a counterpart lacking a. The corresponding form for ~gf=is ~t=. In 282 the feminine-zoic

patient -{u/= overlaps the a of ~at-, resulting in only ron the surface.

(282) ..Ung¢ ateig "ditc@’i¢
un¢h utenyedih¥a 2ih
u=ate=-nygdih§-a~?-ijh
FEM.ZOIC,sg,PAT-SEMI-finish-JOIN-CAUS-STAT
'now she had finished
atotard- "dic...
utgtarg:dih
[u]-at=-qtar-qdi=h
FEM.ZOIC,sg,PAT-SEMI-lake-make-STAT
she lake made’

they saw that she had finished making a lake
TN:08:103:44-46
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Corresponding to -afe= is =te-, as in 283, where the masculine plural agent =hf¢/=

overlaps the a.

(283) ..ng¢ noma~de’ ahéti-"dra-wa’
ngh nowd:?de?  ahdti:dra:wa?
a-hati-draw-a?
FACT-MASC,pl,AGT-dance-PUNC
now this time they dance began

diyarh?

diydrhi?

di=ya=rhi=? _
PART-FEM.ZOIC,sg,AGT-tree-NOUN
around the tree

ahgtita-se’...

ahQteta:se?

a=h[q]-ate-tase=1?
FACT-MASC,pl,AGT-SEMI-go.around-PUNC
they went around'

they began to dance around the tree
TN:03:075:31-36

For -atp-there is ~fg~, in this word from example 267, where the masculine plural

patient -hq- overrides the beginning of the Semireflexive.
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(284) ahgtgtaha’
ahqt¢:tiha?
a~-hq-at¢=-ta=-ha?
FACT-MASC,pl,AGT-SEMI-hire-PUNC
'they onebody hire' (‘they hire people’)
TN:34:279:49

For -ak=there is just -k=, as in 285 with masculine patient =4/u/- removing the a:

(285) ...ahukw "dih&ttg’

ahukwgdihdhte?
a-hu-at-wed-iha=ht-g¢-?
FACT-MASC,sg,PAT-SEMI-voice-shout-CAUS-BEN-PUNC
'she him scolds
de  hud®“mgs
de  hudi?weh
hu-du?we~h
MASC,sg,PAT-mother-NOUN
the  his mother
de  romén§tp...
de  rowenyg¢hti?
r=qwe-nyehti=?
MASC,sg, AGT-person-young-STAT
the  heis young'

The [husband's] mother scolded him still more bitterly.
TN:02:067:13-18

When the following verb begins with y; the ¢of the Semireflexive is lost (see 2.15

Further Notes on'y), leaving just -a~-. Combined with certain A-stem pronominal prefixes

that overlap 4, the Semireflexive is essentially removed from the surface structure. In 286 the
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tis merged with the y of the verb, while a is covered by the pronominal prefix, hence a @

allomorph.

(286) ..n§ A&hu"datéri‘sta’ "dag’
n¢  ahudaterihsta? die?
a-hud-at-g¢ru-hst-a?
FACT-MASC pl,PAT-SEMI-friend-INCH-PUNC
‘now they became friends the one

hahiika-ra’tat

hahika:ra ?tat

h=a-hu-at-yarat-a~ht
TRANS-FACT-MASC,sg,PAT-SEMI-look.after-JOIN-CAUS.PUNC
he (after) him looked

de: rdmé¢
de:  rowéh
r=Qwe=h
MASC,sg,AGT-person-NOUN
the  heperson

ahiika-radat...

ahuka:rahtat

a-h[u]-at-yarat-a-ht
FACT-MASC,sg,PAT-SEMI-look.after-JOIN-CAUS.PUNC
he (after) him looked'

This is the reason the Lion and the hunter became friends that the Lion looked after
the hunter and protected him.

TN:13:119:38-45

Two additional less frequent allomorphs are -g-and -gd-. In 287 the Semireflexive

takes the form -gd= before -ikwar-'quilt’:
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(287) ..ng ahgha@ SE "di"kwary-ric...

ng¢  ahehaq? sedi:kwani:rih
a=he¢-ihag-? s=¢d=-ikwar-uri<h
FACT-MASC,sg,AGT-say-PUNC 2,5g,PAT-SEMI-quilt-cover-IMP
'now he said thou quilts put over (thee)'

So he said, "Put a blanket over your head,"
TN:28:252:48-50

In 288 the Semireflexive is ~g=- (~nghs='house’):

(288) ..tenEngtsté-ygC dagma’
tengnghstizyeh daqwa?
te=n=-¢=-nQhs-diy-¢h
DU-NON.MASC,dl, AGT-SEMI-house-close-STAT
'they two have houses close to that herself only
hd*rg’ to-difiyg¢  duwels&*di..
hg?rg? tidi?iysh  duwehsd?dih

d-u=-Yehsa?dih
PART-FEM.ZOIC,sg,PAT-widow
only that the same that she is a widow' .

They found out that their neighbor was a poor widow
TN:27:234:59-235:01

The conditioning factors for these two rare allomorphs are unclear.

5.1.2 Reflexive (REFL)

According fo Lounsbury (1953:74) the Reflexive (REFL) in Oneida indicates "action
upon oneself, not simply middle voice or action upon one's possession” as well as "reciprocal
action”. Chafe (1967:26) puts it for Seneca as "the total meaning of the base has as both its

performer and its goal the person or thing denoted by the pronominal prefix". In Wyandot
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the Reflexive has two primary functions: a) reciprocity, and b) a more intense, total effect on
the undergoer than the Semireflexive.

The first is shown with -yg-'see':

(289) ...nQ'n¢’ katsi-skwa'Q’
nQ:n¢? katsi:skwa:Q?
ka=tsi-skwa=Yq-?
CISLOC-REP-2,pl, AGT-arrive-IMP
'now then here you come back

tétsikatateyg>...
tetsikyatteye?
t=e=tsi=ky-atate=yg=17
DU-FUT-REP-1,IN,dl, AGT-REFL-see-PUNC
will again thou me see'
When you come back, you will find me here. ('we will see each other again’)
TN:20:149:12-15
Here the Reflexive is used to indicate the mutuality of the seeing.

The more intensifying effect of the Reflexive is shown in 290, where the word

ahdratgzdya ?'he transformed himself' uses the Reflexive on the verb -¢di-'make'.

(290) ...tutdya*yd-crac

tutaya?yqQ:3rah
t-uta -ya=-?dyohir-a -hkw
DU-CISLOC.FACT-FEM.ZOIC,sg,AGT-hammer-JOIN-take PUNC
'there she a hammer picked up
dé ygric
de  yéuis
yg=iri§
FEM.ZOIC,sg,AGT-lion
the lion's
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hi’t"gg‘cramgs de
hu?dy¢hSraweh de
hu=-2dyqhsr-awg-h
MASC,sg,PAT-hammer-have-STAT

he maul has the

yaa’tayosi¢ ta¢
yad 2tayehtsih tih
ya=Ya?t-a=yehtsi=h

FEM.ZOIC,sg, AGT-body-JOIN-0ld-STAT

she is old there

atyawadt tsi“nQ'm@’
alyd:waé ' tsi:InQ:wd?
al-ya-wa?te

FACT-FEM.ZOIC,sg, AGT-hit. PUNC

she hits a worm

ahétatd:"ga’...

ahdtatq:dya?

a=-h-atat-qdi-a?
FACT-MASC,sg,AGT-REF-make-PUNC
he self had transformed'

The witch then took hold of her "lion" club and struck hard, without avail as Tatenri'a

had now changed himself into a worm.
TN:23:177:54-178-07

With just the Semireflexive the sense is one of 'prepare’ rather than 'transform':

(291) ..n§¢ to-"dP ahétecro™ga’
néh  nidi? ahdteh3rqdya?
a-h-ate=hSrqdi-a?
FACT-MASC,sg,AGT-SEMI-make-PUNC
'now also he gets ready
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de tatgriaC cit

de  wawrifah §i:
t=(h)-ater-i-?ah
CISLOC-MASC,sg, AGT-lef-STAT-DIM
the  oneleft yonder
ha-re¢ yaharye¢...
hd:reh yahdr?yeh
h-a=r-e=h ya=harh-?yeh
TRANS-FACT-MASC,sg,AGT-go-PUNC  FEM.ZOIC,sg, AGT-woods-LOC
he goes the woods in'

Tatenri'a then went to the woods to prepare himself for the game.

TN:23:180:44-51
Notice that with the Semireflexive instead of the Reflexive the sense is just that of getting
ready.

Another example of the use of the Reflexive for a more complete effect on the
argument is the difference between the terms for 'fight' and 'murder'. Example 292 shows the

Reflexive attached to =r7Zu='kill', with the result being 'murder’.

(292) .. no"da-e dandtatrijita’...
gh  nqdd:e? dinyqtatriihta?
di-YQ-atat-rizu=ht-a?
PART-FEM.IND,sg, AGT-REF-kill-INST-HAB
'mo  the same (it is) that onebody commits murder with'

[the charms] could not be designed for injuring anybody
TN:21:158:22-24

When the Semireflexive is used instead the resultant meaning is simply one of fighting:

271



(293) ...durhghg’ ké%

du:rh¢ha? kyéhk
d-u-rh¢~-ha?

SUBST-FEM.ZOIC,sg,PAT-next.day-STAT

'the next day half way (noon)

éyara” ngt  kaltrjac
eya:ra:? nch  kyatrizih

ky=-at=riZu=h

1,IN,dl, AGT-SEMI-kill-IMP
up then  we two fight'

Tomorrow at noon we must fight together

TN:27:219:15-19

The allomorphy of the Reflexive parallels that of the Semireflexive. The two primary
forms are -atat- before vowels, and -aéate- before consonants, including y.

The form -amt- appears before ¢ (~gdi- 'make’) in 290, while =g@re~ is used
preceding y(=yg=- 'see’) in 289.

Before Y'the form -amk- appears, due to the ¢ before glide rule (see section 2.15

Further Notes on y), as in 294:

(294) ..kgga ™t ca’*kwasti¢
kedyatih $a?kwahstih
§-Ya?t-wahst-ih
2,5g-body-good-STAT
'so very much thou art pretty

ecataka’ata: "da-ha¢

ch3atakyd ?ta:dathah
e=h3-atat-Ya?t-a-dah-ah

FUT-2,5g, AGT-REF-body-JOIN-spoil-PUNC
thou own body spoilest .
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yé-ja-ji‘ska’ dajard®seC...

yé:Za:Alhska? daZard?seh

e-Za-fu-hs-ka? d-aZ-ara?se-h
FUT-MASC,sg:2,sg-kill- HAB-CHAR SUBST-1,EX,d,AGT-cousin-STAT
will he thou kill surely® my cousin’

You are really very pretty; and your body shall be wasted [if you stay here], for my
cousin will kill you.

TN:04:083:40-084-01

As with the Semireflexive, some A-stem pronominal prefixes overlap and replace the
a of the Reflexive, resulting in three corresponding forms without initial 4. In 292 the
feminine-indefinite agent =/p/- overlaps the initial 4 of the Reflexive, which in turn precedes
r(=rizu-kill"), leaving just =t~ on the surface.”

The corresponding form for -atate- is =tate=, as in 295. Here the masculine plural

agent =h/p]- overlaps the a.

(295) a“t¢tate-yg
altgtatérye?
al=t=(h)Q-atate=ye=2
FACT-DU-MASC,pl,AGT-REF-see-PUNC
'they reach other saw' (‘they saw each other’)
TN:24:193:60

Finally, after ¢ or zand before Ythe form -22k- appears:

! Anomalous use of Future with Habitual.

RAlthough no examples of =atat=, as opposed to =&t-, appear before 7, presumably
this is just a gap in the data and is an allowable combination.
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(296) ...disahatP'"gayg-ha’
dusahati?dyay¢:ha?
d-usa-hati-?d-Yayg-ha?
PART-REP.FACT-MASC,pl,AGT-X-go.out-PUNC
'that again they escaped

dahotake’aC...
dehgtakyg?ah
de-hg-atat=-Ye¢?ah

SUBST-MASC,pl,AGT-REF-child.STAT
that they are relatives'

And the Wyandots again escaped
TN:40:311:16-20
Although no examples of the Reflexive before whave been found, presumably they would

take the ~atak=/ =tak- forms as well.

5.2 Nominal Position
This position can contain either a simple noun root, or a noun derived from a verb
using the Nominalizer (NOM). In 297 there is a simple noun root, =Ya7t= 'body’,

incorporated into the verb = Yp='arrive':

(297) ..tudé‘c@® ahadke...
tudé?sa? ahad?kyqQ?
a-ha-Yat-YQ=?
FACT-MASC,sg, AGT-body-arrive-PUNC
‘therein he her brought (in)'

he brought the young woman in

TN:02:065:29-31

In 298 -7dahkw=-"'drum’ is incorporated into -27e- 'hit':
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(298) ..sa™tat hdhé-te’
saaltat hah¢:te?
s=(h)a=Ya?t-a=t ha-het-e?
REP-MASC,sg,AGT-body-JOIN-stand.STAT MASC,sg,AGT-lead-HAB
‘one of them he leads

hy™"dakwa’éhake...

hu?dahkwa?éhakye?
hu-?dahkw~a?e-h-akye-?
MASC,sg,PAT-drum-hit-STAT-PROG-STAT
he the drum goes on beating'

their leader was beating the drum
TN:03:076:07-09

In order to break up consonant clusters, the joiner vowel (JOIN) =4- is inserted
between the noun and following verb. In 299 -2~ is inserted between the noun = Ya7¢="body’

and the verb =du-"cold"
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(299) ..ahaata-dulst
ahad ta:duhst
a~ha=-Ya?t-a=du-hst
FACT-MASC,sg,AGT-body-JOIN-cold-INCH.PUNC
'his body was cold

tutd? nQ"dag’ hP"da-ta'g
tuhti? nqdaé? hidd:ta:§?
hi-dat-a=Yg=?
MASC,dl,AGT-camp-JOIN-have-STAT
there just so they camped

haha°gara’s

hahd?dyara?s

h-a=ha=-dyara=1?s

TRANS-FACT-MASC,sg, AGT-help-BEN.PUNC
he her helped

a‘jatéyat...

a:Ziteyaht

a=-iZ-atey-a~ht
FACT-MASC,dl,AGT-burn-JOIN-CAUS.PUNC
they two a fire built'

So chilled was he, that they had to build a fire to warm him up.
TN:28:249:28-33

The Joiner is also inserted when the noun -rpt='log' is incorporated into =yg-"be in":
9 po Yo

(300) ... hu-"daté~°mg¢ de
hi:daté:?weh de
hud-ate?w-¢h
MASC,non.sg,PAT-run.away-STAT
'they escaped the
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yarg-tayQ¢ yarotatidtra...

yarg:tayoh yargtat¢ 2tra?

ya=1Qt-a=-yQ-h ya-rQt-a=tghtr-a?
FEM.ZOIC,sg,AGT-log-JOIN-in-STAT = FEM.ZOIC,sg, AGT-log-JOIN-lie-STAT
it log inside it log lying'

they hid inside a hollow log lying [on the ground]
TN:40:309:61-64

When -7diygr-'sense’ precedes -ASg=-'eat', as in 301, again the Joiner is added:

(301) ahw’'diyQ-ra‘cg’
ahu?diyQ:rdh¥¢?
a~hu-?diyqr-a-hig-?
FACT-MASC,sg,PAT-sense-JOIN-eat-PUNC
'he mind is troubled’
TN:29:258:31

The nominal position can also contain a nominalized verb. In this case a verb root is
followed by the Nominalizer (NOM), which is in turn followed by another verb. The
Nominalizer has three allomorphs, =As7=, =A5-, and =s7=% In 302 the Nominalizer form -

hsr=is added to the verb -z~ 'hire' before the latter is incorporated into the verb ~ihsay-

"look for'.

“The rless allomorph is probably due to the disappearing rphenomenon, and the 4
less form due to Barbeau's inconsistency with laryngeals (see chapter 2: Phonology).
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(302) yeétatcrica-ke?
yetah¥ri¥a ke?
ye=-ta=-hir-ihfay-[hje-?
1,5g,AGT-hire-NOM-look.for-DISLOC-PURP
'T am work (hunting) looking for’ ("I am looking for work')
TN:27:225:25

As noted in the introduction to the chapter, the nominal slot can include examples of
recursive noun incorporation. That is, not only can a noun root be incorporated into a verb,
but that verb root can be followed by the Nominalizer, and thus function as a noun and be

incorporated into a second verb.* In 303 the noun root - ¥22t-'body' is incorporated into

the verb =&« 'hire' (with a Joiner as well).

(303) déhuka’tatacrgmgs
dehukya?tatdhSraweh
de-hu-at-Ya?t-a=ta~hir-awg=-h
SUBST-MASC,sg,PAT-SEMI-body-JOIN-hire-NOM-have-STAT
'the he hired hand has' (‘he has a hired hand")
TN:23:170:50-51

This incorporation is schematized in 304:

(304) -Ya?te + 8
body hire
noun verb

verb complex

* In other Iroquoian languages this process can continue further, although more often
in artificial settings.
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The resulting noun-verb complex then has the Nominalizer appended to it, resulting in another

complex noun, as shown in 305:

(305) -Ya?tata- + =h3r-
body-hire NOM
verb complex derivational affix = noun complex

This entire structure is then incorporated into another verb, -awg='have', as in 306:

(306) =-Ya?tatah$r- + -awg-
hired body have
noun complex verb = verb complex

As can be seen, noun and verb complexes can nest inside of each other.

5.3 Derivational Suffixes
The next position in the verb stem is for the derivational suffixes. More than one
such suffix can be present. These affixes are the Causative (CAUS), Benefactive (BEN),

Dislocative (DISLOC), Distributive (DISTR), Inchoative (INCH), Instrumental (INST), and
Undoer (UNDO).%

$Lounsbury (1953) called the Dislocative purposive, giving it its own slot in the verb
which preceded that of the aspectual slots. Chafe (1967) used the term purposive for a
special aspect (still called the Purposive), though including it in the discussion of his root
suffixes, since it requires the Dislocative (which Chafe called the transient). These uses of
the same term for two different (but connected) morphemes has been a great source of
confusion. See sections 5.3.7 Dislocative and 5.4.6 Purposive.
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5.3.1 Inchoative (INCH)
The Inchoative indicates a change of state of one sort or another and has the forms
=hst=¥ =st-, and -g-. The first is shown in 307, where -Ast- follows the verb -wey=-

'marry’.

(307) ...skaa’tat h@ g’ ta’a
skaa?tat hq?rg? t3?
s=ya=Yalt-a=t
REP-FEM.ZOIC,sg,AGT-body-stand

one only no

teha-j@ dae’ nQ"daé’
teha:hi? dae? nqdaé?
te=ha=Zu=?

NEG-MASC,sg, AGT-kill-STAT

not he killed that one that it is

ahiwé-(sta’

ahiwé:hsta?

a=hi-wey-hst-a?
FACT-MASC,dl,AGT-marry-INCH-PUNC
they two got married

dejate’yg’a-ha’...

deZate?ye?a:ha?

de-Z-ate=yg¢laha-?
SUBST-NON.MASC,dl,AGT-SEMI-sibling-STAT
the they two are brother and sister’

The only young woman that Tatenri'a had not killed then became his brother's wife.
TN:23:180:08-17

“The cognates for the form =Ast~ in other Iroquoian languages are not the Inchoative,
but rather the Causative and Instrumental (Oneida: Lounsbury 1953; Wendat: Lagarde 1980),
or the Causative-Instrumental (Seneca: Chafe 1967). Evidence that =As¢= is the Inchoative
and not the Causative in Wyandot are given later in this section.
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Compare ahiwézhsta ?'they two got married' in 307 to a similar form without the Inchoative,
in 308, where only the state of being together or married is indicated by the form hiwezy'they

two live together’, without the "become" sense of the Inchoative.

(308) .tw kga'di  Tyad-tiltet
tu?  kéadi iyad:2tu?teh
i=ya=Ya?t-u?te=h
PROTH-FEM.ZOIC,sg,AGT-body-kind-STAT
'there almost it is body-like (resembles)

dé  kwayawang¢
de  kwayliwdnch

t=wa=yuwane=h

CISLOC-FEM.ZOIC,sg, AGT-large-STAT
the  sheis large elder

de h3"da*wat hiwéy...
de  hadi?wah hiwé:y
ha-da?w=ah hi-wey
MASC,sg,AGT-cotton-NOUN MASC,dl,AGT-marry.STAT
that  he is cotton-like they two live together’

The Horned-Owl's body resembled very much that of the elder wife of the Deer
TN:24:191:41-49

Because the Inchoative in Wyandot is cognate with the Causative and Instrumental
elsewhere in Northern Iroquoian, a few more examples will be shown to demonstrate that this
is indeed an Inchoative rather than one of the others.

A form with the Inchoative (excerpted from example 286) indicates the inception of
friendship. In 309 a form with the Inchoative appears for the verb =at-gru=be friends', with

the sense of "become".

281



(309) ahi"datéri‘sta’
ahudatenihsta?
a=-hud-at-g¢ru-hst-a?
FACT-MASC,pl,PAT-SEMI-friend-INCH-PUNC
'they became friends'
TN:13:119:39-40

In 310 the plain form of the verb appears, but with a simple stative interpretation:

(310) ..n¢ haté"duty’

n¢  hat¢durtg?

h-atedutq=?

MASC,sg, AGT-speak-PUNC
now he (to) her spoke

tsiga-ka¢

tsidya:kah

tsi-dyakah

2,dl-marry.IMP

(for) them (to) live together (marry)*’

nQia "térw tangtawPidPal...
nQnyateru? tunygtawi?di?ah
n-Quny=-at=gru=-?

SUBST-1,dl,PAT-SEMI-friend-STAT

my friend T.(n.)

"My friend Tawidi'a wishes to marry you."
TN:28:246:04-08
The next pair show the verb -du7i- 'be a stepson'; 'his stepparent’ with and without

the Inchoative. Note the addition of the Inchoative in 311 adds an inchoative meaning.

*Although glossed as 'them' the pronominal prefix is second dual.
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Additionally, it is the =st-allomorph.*® Lack of an Inchoative in 312 leaves a simple stative

sense.

(311)

(312)

ahudi@asta’

ahudi?asta?

a=hu-du?a-st-a?
FACT-MASC,sg,PAT-stepson-INCH-PUNC
'he became a son (or stepfather)

hamg‘tsgtPac

howetsehti?ah

h-qwe=1ts¢hti=?ah
MASC,sg,AGT-person-young.STAT-DIM
he small boy

ng¢  ne'dae huri-wica-e¢
nch  nedde? huri:wih$4:h

hu-rihw-ihia
MASC,sg,PAT-law-look.for. STAT
now exactly he plan has made
ndahlcw* hiskwarhg...
dahuzu? huskwa:he
d-a-hu-Zu-? hu<hskwahe
SUBST-FACT-MASC,sg,PAT-kill-PUNC MASC,sg,PAT-hate.STAT
that he him kills he him hates'

A little boy became the stepson of a man who hated him and wanted to kill him.
TN:18:133:01-07

...ng:"dag hatsgtadis
n¢:daé? hats¢htadis
ha=tsghtea=di=s
MASC,sg,AGT-eat-JOIN-BEN-HAB
'now that one he him feeds

®As with other morphemes, the A-less allomorph may be just an artifact of Barbeau's

transcriptions.
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dai-j(ic dé  hi‘skwéhg

daizzith de  hihskwih¢h
hu-hskwahg-h
MASC,sg,PAT-hate-STAT

thatis why that she him dislikes

dé hud@a¢
de  hidi?ah
hu-du?a-h
MASC,sg,PAT-stepson-STAT
the  stepson'

[she hated him because he kept feeding that animal]
TN:27:213:20-26

The next pair are formed from -/27w-'sleep.' In addition to the Inchoative, the Joiner -a-
can also be seen in 313. With the Inchoative, the meaning is one of entering a state of

sleeping, whereas without it (in 314) only the simple state of sleep is indicated.

(313) ..n§¢ GQta’*wastd®
néh  (?ta?wahstd?
u-itatw-a=hst-a?
FEM.ZOIC,sg,PAT-sleep-JOIN-INCH-STAT
'now she got sleeping

tideherg¢ iya"da’*tawalstic...
tideher¢h  iyadd?tawahstih

i=ya=da?t-a-wahst-ih

PROTH-FEM.ZOIC,sg, AGT-coach-JOIN-good-STAT
thatmuch  her couch is good'

Her coach was so comfortable to be in that she soon fell asleep.
TN:22:166:49-53
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(314) ...ayatra’*skwatic

ayatra?skwahtih
ay-atra?skw=a=ht=ih
1,5g,PAT-dream-JOIN-CAUS-STAT
T dreamt

da‘cgk im§ "taye¢
dahSehk iwétayeh
d-ah3$¢hk i=w=gt-aye=h
SUBST-three PROTH-FEM.ZOIC,sg, AGT-day-number-STAT
that three days
utdwiC...

u:td?wih

u=ita?w=ih
FEM.ZOIC,sg,PAT-sleep-STAT
would she be sleeping'

[ dreamt that she will sleep three days long.
TN:04:089:11-14

5.3.2 Causative (CAUS)
The Causative adds ameaning of causation, or making. The forms are =At=, =st-, and
=w-=. The selectional restrictions among them are unclear. Example 315 shows the simple

verb =djy-'be close':

(315) teyahq‘tadi-yg¢
teyahohtadiyeh
te=y=-ahqht-a=diy=-¢h
DU-1,sg,AGT-ear-JOIN-close-STAT
'both my ears are close together’
WD:NR:062
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With the Semireflexive and the Causative «At= the meaning becomes 'follow’, i.e., ‘make

oneself close':

(316) ..ng¢ thtahé-"de de
nch tutah¢:de? de
t-uta=hgd-e=?
DU-CISLOC.FACT-MASC,pl,AGT-go-PUNC
'now there they are coming the

hidatadiyatg’

hudatddiydhtq?

hud-ate-diy-a=ht-q?
MASC,non.sg,PAT-SEMI-close-CAUS-STAT
they are following

tusahqgtra-ha’...

tusahqtrd:ha?

t-usa=hQ-atra=ha?
DU-REP.FACT-MASC,pl,AGT-meet-PUNC
there again they met'

As the soldiers were now on their way back, they came across the fugitives.
TN:40:310:37-42

Example 317 shows =Asatu(r)-'sick’ without extra derivational morphology:

(317) ..a¢ sateyes
gh  satéych
sa=te?=y=¢=h
X-NEG-FEM.ZOIC,sg,AGT-have-STAT
'no thou not art (my husband)®

It is not clear what the initial string s2-is. It has the same form as both the second
singular patient and the Repetitive-Factual complex, neither of which can precede the
Negative.
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hucatiha’ nQ"dag’ dairwé-y<...

huhSatitha? nqdaé? daizwéy

hu-hsatu(r)=ha? d-ai-wey
MASC,sg,PAT-sick-STAT SUBST-1,EX,dl,AGT-marry.STAT
he is sick the very one the my spouse’

No, this is not he; for he is sick, my husband
TN:28:252:18-22

With the Causative added this becomes 'make sick’:

(318) ..ng> awakotg
ngh  awdhkote?
a=w-ahkqt-¢?
FACT-FEM.ZOIC,sg, AGT-begin-PUNC
'that she began

awatate‘caturat...

a?watatéhSaniraht

at-we-atate-h3atur-a=ht
FACT-FEM.ZOIC,sg,AGT-REFL-sick-JOIN-CAUS.PUNC
she herself makes sick'

The old woman pretended to be sick,

TN:27:212:21-24

Another allomorph is =st=, identical in form to the Inchoative previously described.

This can be seen in 319, where =-gdu-'rain’ is followed by the Causative =st=.
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(319) ..tsijat’9  hagdustihdke’
tsiZutQ?Q haqdustihakye?
ha-Qdu=-st=ih-akye=?
MASC,sg,PAT-rain-CAUS-STAT-PROG-STAT
'Ts.(name)  he rain is making'

Tsijutoon, the Wyandot, is making the rain.
TN:02:074:24-25

Compare a non-causativized form of the same verb, where the lack of a Causative morpheme

correlates with a lack of a sense of "making" associated with the word:

(320) ..ta haha'¢’
tu haha:g?
h=a=-ha=YqQ-?
TRANS-FACT-MASC,sg,AGT-arrive-PUNC
'there he goes in

tahata-set daijui¢
tahdta:seh daizuh
t-a=h-atahse=h

CISLOC-FACT-MASC,sg, AGT-hide-PUNC

there he hides because

difiQ"duSs...

dinyqdiihs

di-y=qdu<-hs

PART-FEM.ZOIC,sg,AGT-rain-HAB

it is raining'

One day, while a storm was raging, he ran for shelter into a hollow tree
TN:15:124:47-51

A third allomorph is «w=. In 321 is an example of the verb =akaht-'see’ with this

Causative allomorph added, and a sense change to 'look":
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(321) .."dehtrét  a'sdka%kwa...
dehé:réh a?sdkihkwa?
a?-s-akaht-w=a?
FACT-2,sg,PAT-see-CAUS-PUNC
‘at a distance thou lookest'

Look over there!
TN:22:163:45-47
The causative meaning is even more evident in the following example, which includes the

Semireflexive and -rihw-"law":

(322) 2Yygtriwakakwa’
ayqtri:wikahkwa?
a?-yQ=-at-rihw-akaht-w-a?
FACT-1,sg:2,sg-SEMI-law-see-CAUS-PUNC
'l made them look out for me'
TN:36:287:43

Here the speaker refers to a surprising behavior on his part, startling others and causing them

to look at him.
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5.3.3 Instrumental (INST)
The Instrumental indicates using something, and is often glossed as 'with'. The
allomorphs are -fkw=, =ht=, and =7t=* The first allomorph is shown in 323, following the

verb =ra?tg-'fletch!, in a reference to trimming arrows:

(323) ..te"sagtd*sE dic
te?sagtd ?sedih
te?-sa=Yeta=?se=di=-h
NEG-2,sg,PAT-have-BEN-BEN-STAT
'no hast thou any left **

da‘cate-ratgkwat...

dahaté:ra?tghkwaht

d-a-h$-ate-ra?tQ-hkw-a-ht

PART-FACT-2,5g, AGT-SEMI-fletch-INST-JOIN-CAUS.PUNC
that thou thine arrow feather with'

Have you got any of these feathers left to trim the arrows with?
TN:26:201:08-11
Shortly after is an example referring to an arrow that had been trimmed with the feathers of

a particular kind of bird:

%It may be noted that the Inchoative and Causative both have allomorphs in =st-,
while the Causative and Instrumental both share =A¢=. This is not unusual in Iroquoian, since
in Oneida the Causative and Instrumental both have =(&)r-and =st- (Lounsbury 1953); in
Tuscarora the Causative and Instrumental share -7t= and -At- (Williams 1974); and in
Wendat (Lagarde 1980) the Inchoative and Causative both use =4~ while the Causative and
Instrumental both show =Ast-. Here homophonous morphemes are distinguished based on
English glosses.

9'Note the unusual instance of a double Benefactive.
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(324) ..a¢ dae té°yg¢ kwgkw kwg’

agh  dae? té?ych kwehkwéhkwe?
te?=y-¢=h
NEG-FEM.ZOIC,sg, AGT-have-STAT

'no  thatone not it is woodcock

nQ-daé’ ahQ-ra’
nQ:daé?  uhQud?

u-hohr-a?
FEM.ZOIC,sg,PAT-quill-NOUN
that one his feather
dé‘ca’ tsdmghah?
dé?%a? tsawehithi?
this (other) one eagle
Gh¢-ra’? yarra gkwi...
uhg:ra? ya:ra2tQhkwi?
u=hqhr-a? ya=rattQ=hkw=i?
FEM.ZOIC,sg,PAT-quil-NOUN  FEM.ZOIC,sg, AGT-fletch-INST-STAT
his feather it is feathered with'

[the arrow] was not trimmed with the woodcock's feathers, but with the eagle's,
TN:26:202:41-50

Without the Instrumental attached, the glosses lose the sense of 'with', as in 325:

(325) ..da® tcerdt
da:é? ¢hlemrdt
e=h$-Yera?t
FUT-2,sg,AGT-use.PUNC
'that one must thou use

di’‘caterd*%Q’

déhfate:radtq?

d-e-h3-ate-ra?tQ-?

PART-FUT-2,sg, AGT-SEMI-fletch-PUNC
that will thou feather fix on to
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da® disa‘§’ de

da:é? disa:¢? de
di-sa-Ye=?
PART-2,sg,PAT-have-STAT

that one that thou hast the

tsamghd-h? yangé’ra’
tsawghuzhi? yadyé?ra?

ya=dyar-a?

FEM.ZOIC,sg, AGT-tail-NOUN
eagle its tail

ta¢ ¢cihoridawa’

tih ¢hiehghrudawa?
e-hSe-hohr-udaw=-a?
FUT-2,5g,AGT-quill-pull-PUNC

there at must thou quills pull off

dt‘cra- %o’

déh3rd:tQ?

d-e=h$-ra?tq-?
PART-FUT-2,sg,AGT-fletch-PUNC
that thou feather fixest

do’da’...

du?da?

d-u-?d-a?
SUBST-FEM.ZOIC,sg,PAT-arrow-NOUN
the arrows'

For the feathering, pull quills from the tail of the eagle which you own, and use them
to fix the arrows.
TN:21:154:57-155:13

The Instrumental also has the shape =At-. The bare form -riZu~'kill' is shown in 326:
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(326) eCcriji?
eh¥rizu?
e=h$=rizu=?
FUT-2,sg,AGT-kill-PUNC
'will thou her kill' ('you will kill her)
WM:128

When followed by the Instrumental, as in 327 (excerpted from 292), 'with' appears in the

gloss:

(327) dandtatrijuta’
dinyqtatriXihta?
di-YqQ-atat-rifu~ht-a?
PART-FEM.IND,sg, AGT-REF-kill-INST-HAB
'that onebody commits murder with'
('murdering people with the magic charms')
TN:21:158:24
Here the sense changes from just killing to killing through the use of a tool (magic charms).
The next allomorph is 7. The verb ~gdi-"make' incorporating the noun =s="bowl’
appears in 328 below. Without the Instrumental, there is no mention of what the bowls

consist of,
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(328) ...té‘catd-"téwac né
téhdatg:tewah ne
t-e=hi-ctotew=ah
DU-FUT-2,sg, AGT-run.against-PUNC
'must thou him run against the

hasg-"gass...

hasq:dyahs

ha-s=qdi-ahs

MASC,sg, AGT-bowl-make-HAB
he makes bowls'

Then pass by your uncle Bowl Maker.
TN:28:240:40-43

Compare this to when the Instrumental is added, and where there is reference to what the

bowls are made out of:

(329) ...na'run¢4siska’ ci¢
na:runghtsiskya? §ih
n-a-ru=nohtsi?r-sky-a?
TEMP-FACT-MASC,sg:MASC,sg-head-cut.off-PUNC
'now he his head takes off away (yonder)

harling4sPirot? de
harunqhtsi?roti? de
ha=ru-nqhtsi?r=qti-?
TRANS-MASC,sg:MASC,sg-head-pitch-STAT

he his head threw away the

yarhPtdn¢g’

yarhi?tqng?

ya=rhi=t=(h)qng=-2

FEM.ZOIC,sg, AGT-tree-stand-DISTR-STAT
trees stand many (a grove) there

2.
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ha’{itsiku-tg?

haitsihkizte?

h-a?=u=tsihk-ut=-¢? .
TRANS-FACT-FEM.ZOIC,sg,PAT-knot-stick.up-PUNC
it... a knot (on a tree) became .
hgha¢’ tatgriva¢
héhag? tateri:fah
he-ihag=?

MASC,sg,AGT-say-PUNC

he said the one left

hotéso"ga’*a

hotesqdya?ta

hQ-ate=s=qdi-a=7t-a
MASC,pl,AGT-SEMI-bowl-make-JOIN-INST-HAB
they body bowl make with

dawe‘skwake¢ Jomé¢
dawehskwahkeh Qwéh

[o]-qwe=h

FEM.IND,sg, AGT-person-NOUN
in the future (afterwards)  the ones

oté-"de’...

Qtg:de?

[Q]=a?tQ=d=i?

FEM.IND,sg, AGT-possible-BEN-STAT
onebody becoming

And cutting the gambler's head off, he threw it away to the woods. The head became
a large knot on a tree. Tatenri'a said, "The people thereafter shall make bowls for the
stone game out of this kind of knot."

TN:23:182:51-183:08
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5.3.4 Undoer (UN)
The Undoer =w=- or =hsk=- indicates the reversal or undoing of the action or state
indicated by the verb. Following are examples of the verb ~dinypht= 'hang', 330

incorporating -r2-'bag, and 331 incorporating -gr-"'moss";

(330) déya‘ra"di-fiQt
deya:radi:nyqht
de-ya-ra-dinyqht
SUBST-FEM.ZOIC,sg, AGT-bag-hang.STAT
'the it bag hangs (up)' (the bag is hanging up')

WM:229

(331) ..te’yéhe ajayghagy’
te?yé:he: aZay¢haq?
te?=y=che=: aZ-Yayg~ihag-?
NEG-1,sg, AGT-think-STAT OPT-FEM.IND,sg,AGT-say-PUNC
'don't I want to anybody to say
mgra"difiot...
weradinyqht
we=gr=a=dinyqht
FEM.ZOIC,sg, AGT-moss-hang. STAT
it moss hangs'

'T will not suffer anybody to say that the moss hangs'
TN:22:167:13-15

Compare them to the following examples with the Undoer added. The noun - ¥a 7t~ 'body’

is incorporated in 332, while 333 incorporates =tu(w)="door'.
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(332) ..tuha‘ca’ n¢g-
tuhih%a? nQ:
'that only (the only way) if so

awayatri-jéri-ha’ "ditu¢
awayatri:Jeritha? dituh
a-way-atriZeri=ha?
FACT-1,sg,PAT-believe-PUNC

I believe thereto

Ehécatadifiptawa’

ehéh¥aMadinyqQtawd?
e=heh§-Ya?t-a=dinyQht-a-w-a?
FUT-2,sg:MASC,sg-body-JOIN-hang-JOIN-UN-PUNC

thou unhitchest

dé-ra%a’ de
dé:ra?ta? de
d-e-Yera?t-a?
SUBST-FEM.IND,sg,AGT-use-HAB

that (which) one uses the

katd‘skwérot aisgng’a
kyutghskwergt aisen¢?ah

ay-sen¢?=-ah
1,sg,PAT-domestic-NOUN
cattle my stock
éro'"da-rahd-kwa’ de
er:da:?rahd:kwa? de
e~r-Qd-a-rah-a-hkw=-a?
FUT-MASC,sg, AGT-dirt-JOIN-get-JOIN-INST-PUNC
the dirt turns over that
hatra"a...
haéra?ta
ha-Yera?t-a
MASC,sg,AGT-use-HAB
he it uses'
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(333)

I will believe you only if you unyoke the oxen with which my servant is now
ploughing my field.
TN:29:262:41-55

...dahi'hghg’

dahiirh¢ha?

d-a?=-u-rh¢-ha?
PART-FACT-FEM.ZOIC,sg,PAT-day-PUNC
'the next morning

hattiwadiiiQ "tawa’*

hatuwadinyqtawa?

ha-tuw=-a~dinyght-a-w-a?
MASC,sg,AGT-door-JOIN-hang-JOIN-UN-PUNC
he the door took off

sadha-wa’

sahd:wa?

s=a=ha~wea?

REP-FACT-MASC,sg, AGT-take-PUNC
back he carried

usaha¢’ de
usahaQ? de
usa=ha=YQ=?

OPT.REP-MASC,sg,AGT-arrive-PUNC

back he came home (to) the

huten¢rg’ étro"dag’...

hutengrq? etrodaQ?

hu-atenqrq? e=t-r-QdaQ=-?
MASC,sg,PAT-uncle.STAT X-CISLOC-MASC,sg, AGT-live-STAT
his uncle (to) his house'

he came down in the moming, and took the door off to his uncle's house
TN:28:245:17-24

All four examples use the same verb root =dinypht-"hang', but the addition of the Undoer

changes the sense to 'unhanging’ or 'unhitching'.
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The next example incorporates = ¥a7¢~ 'body' into ~g¢-'tie'. Together they refer to

tying something up.

(334) ..édatra‘ha’ eritjw’
eda?urd:ha? emri:hi?
e-@-datura-ha? e~@-riZu=-7
FUT-1,sg,AGT-able-PUNC FUT-1,sg,AGT-kill-PUNC
'will I be able will I him kill
dehgskwa- “3t...
deheskwa :2toté
d-e-heskwa-Ya?lt-qt-¢
PART-FUT-2,pl:MASC,sg-body-tie-PUNC
you him tie'

I'll kill [the animal], if you tie it first.
TN:27:213:40-43

When the Undoer is added, however, the meaning changes to untying someone:
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(335)

(336)

.ta-wato

@ wad 2Q

ted=w=a?tQ=1
CONTR-FACT-FEM.ZOIC,sg,AGT-possible-PUNC
'impossible

du‘sdhgka’*¢-tawa’...

dusah@kya?qQ:tawa?

d-usa-hQ-at=Ya?t-qt-a-w-a?
PART-REP.OPT-MASC,pl,AGT-SEMI-body-tie-JOIN-UN-PUNC
that they body unfasten’

They could not extricate themselves
TN:37:293:64-66°'

A final pair of examples is based on the verb root =zsirut-'close":

..tuhahiwa’ ko<t

tuhahuwd 2kqht

tu=h-a=hu-Ya?t-yq-ht
REM-TRANS-FACT-MASC,sg,PAT-body-in-CAUS.PUNC
'there he him placed in

nahétsi-ru-tg’*

nahatsizruste?

n-a-ha=tsirut-¢?
TEMP-FACT-MASC,sg, AGT-close-PUNC
that he closed (it)

*'The tof - Ya?t- is missing in Barbeau's transcription since this page of the text is

missing many of the characters along the left margin. This word continued on two lines,
allowing the middle of the word to be on the left margin.
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"diredaharg...

duredahdret

d-u-reda-haret
SUBST-FEM.ZOIC,sg,PAT-rock-hollow.STAT
the hole (in the rock)'

fhe] shut him up in a rocky cavern
TN:18:133:14-18

When the Undoer is added to -tsirut- ‘close’ the meaning changes to 'open’. In 337 the

reference is to a bottle containing smallpox:

(337) ...n¢°n¢¢ tayu-késtic
nQ:né¢h tayu:kyéhstih
t=ayu=at=Yehst-ih
CISLOC-FEM.IND,sg,PAT-SEMI-gather-STAT
'now then the crowd gathered

tahatsi-rutiwa’

tahatsi:rutiwa?

ted=ha=tsirut=a=w=a?
CISLOC-FACT-MASC,sg,AGT-close-UN-PUNC
that he (it) uncorked'

So he uncorked the bottle in the midst of a large crowd [of his people, whom he had)
called together.
TN:06:096:29-31
Adding the Undoer to 'close’ results in opening the bottle.
The allomorph =Ask=is shown with =dre-'tie', where the addition of =Ask=to =drg-

changes the meaning from 'tie’ to 'untie":
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(338) alyé-drgt
alyé:dreh
a?-ye-dre~-h
FACT-1,sg,AGT-tie-PUNC
Ttie' (T tied it')
WD:VR:189

(339) ayedrglska’
aye?drehska?
aye=drg=-hsk-a?
1,5g,PAT-tie-UN-STAT
'T untie' (T've untied it")
WD:VR:189

5.3.5 Distributive (DISTR)

The Distributive indicates 'several’ or ‘many’, especially in reference to occurrences of
an action. The allomorphs are =hp=, =2rp~, -honyp-, =hspnyp-, -npnyg-, -gnyQ=, and
-%1onyp-. As may be noted, several allomorphs are apparently two iterations of the
Distributive, if -nyp- is also considered an allomorph™. In related languages this
construction is called the Double Distributive. However, since these doubled forms are the
norm for Wyandot, and since =ayp- does not appear separately, they will be treated as
individual allomorphs.

The form =hg= appears below with the verb =argdutp- 'speak’:

*This would be expected from cognates.
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(340) ..ng¢ awati‘cécry"ga’
neh awatih§éh¥rqdya?
a-wati=h3ehSr=qdi-a?
FACT-NON.MASC,pl,AGT-feast-make-PUNC
now they hold a feast

da’utg-du-tdhe-

da?ut¢:dustghq:

d-a?-u-atgdutg-hq
PART-FACT-FEM.ZOIC,sg,PAT-speak-DISTR.PUNC
that she her spoke

dé  yomayuwa-ngt...
de  yQwayuwd:ngh
yowa-yuwang¢=h
MASC,non.sg:FEM.ZOIC,sg-large-STAT
the  she person big (leader)

now the people hold the [Ustura] feast to comply with the command given the woman

by the leading one
TN:10:107:18-23

Interestingly, the literal gloss is unaffected. With other forms, however, there is a change.

The verb ~i7trpta=jump' in 341 is followed by the allomorph -Srp~. Note the addition of

'severally' to the gloss:

(341) ..ta0¢ haté "dP'tr§ta’*cro’
tuh ha?tedi?trotd 28rq?
h-a?=te~d-ittrota~23rq-?
TRANS-FACT-DU-MASC,dl,AGT-jump-DISTR-PUNC
'there (to) they jumped down severally (one by one)
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de  saypdsiwat hiki%wa’...

de  sayg¢htsiwat hukyihkwa?
hu~ikyuhkw-a?
MASC,sg,PAT-crowd-NOUN

the (n) his crowd'

Now then, Sayentsuwat and his warriors leaped down one at a time
TN:37:294:04-08
The following examples show the longer forms cognate with the Double Distributive

in the other languages. Example 342 is based on the verb ~amhskw- 'go out'. It shows the

allomorph -4gnyg-, adding the gloss 'many’ in reference to many people returning to their

separate homes:

(342) ..n¢¢ ayeha@
né¢h  a?y¢hag?
a?-ye=-ihag-?
FACT-FEM.ZOIC,sg,AGT-say-PUNC
now she said

satsara‘skwah¢-ig’ aweé-td...
satsardhskwah¢:myq? awéiti?
s-a=-ts=arahskw-a=hqnyq-?
REP-FACT-2,dl-go.out-JOIN-DISTR-PUNC

back you go many all

And she declared, "You may all now go back to your homes!”
TN:26:203:09-12

The next example is adjoined to - Ygkw= 'plant, using the form ~hSpnyg=, which

again has the gloss 'several' added to it, referring to many different things planted:
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(343) ..ng¢ awayé-ra
nch a?wayém?
at-wa-yg-ra?
FACT-FEM.ZOIC,sg, AGT-summer-put.away-PUNC
'now it summertime is

L4
- e

nahingkwa’cig’...

nahiny¢kwah3qnyq?

n=-a=hi-Ygkw=a=h$qnyq-?

TEMP-FACT-MASC,dl, AGT-plant-JOIN-DISTR-PUNC
they two are planting several (things)'

In the spring time, they sowed the seeds of several plants in their garden.
TN:26:197:26-29
The next form is -ngnyp-. Here in 344 the verb is ~amkya- 'talk’, referring to

conversation between a boy and a porcupine:

(344) détejataka-ndiiot
deteZatakya:nqnyqh
de-te-Z-atakya =nQnyQ=h
SUBST-DU-NON.MASC,d, AGT-talk-DISTR-STAT
'the he (with) him conversing several'
TN:18:133:41-42

The verb -Asatu(r)- 'sick' can also be followed by the Distributive, in this case the form

-gnyg-. In 345 sickness is spread among members of a population.
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(345) ..ng¢ ayu‘catd-ronol..
ngh  ayuhfanirrgnyqh
ayu-hatur-qnyQ=h
FEM.IND,sg,PAT-sick-DISTR-STAT
'now they-body got sick many’

all of them fell ill with smallpox
TN:06:096:38-9

The final allomorph is -2rpnyp-, demonstrated with the verb = - hire' in 346. In

this case several doctors were hired, each one individually in turn:

(346) ..n§¢ e-jaté"tacrdng’s
néh  e:datetd:2¥rdny¢hs
e=:Z-atg=ta~25ronyQ=-hs
FUT-MASC,dl, AGT-SEMI-hire-DISTR-HAB*
'now must they be hiring several in turns

de  yoma-%sg’s de
de  yowa:tsehs de
yowa=-tsg~hs
3,non.sg:FEM.ZOIC,sg-cure-HAB
the  they her are doctoring the
yawi-ng¢ du‘cataha®...
yawimg¢h duhfaniha?
ya=wing=h d-u-hatur-ha?
FEM.ZOIC,sg, AGT-pretty-STAT = SUBST-FEM.ZOIC,sg,PAT-sick-STAT
she is young that she is sick'

Her parents then hired several white man's doctors, in turn, to attend her.
TN:34:278:54-62

%The Future with the Habitual instead of the Punctual is anomalous.
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5.3.6 Benefactive (BEN)

The Benefactive generally indicates that an action is 'to' or 'for’ someone or something.
That is, the Benefactive sometimes adds a sense of indirectness. It is not necessarily beneficial
in a literal sense. The allomorphs are =d7-, -7s-, =Aas=, and =¢-.

A basic use of the Benefactive is shown in example 347, where a group is receiving

the law:

(347) somariwagta"di
sQwariwaetadih
sQwa=rihw=a=Yet-a=di=h
MASC,sg:1,pl-law-JOIN-have-JOIN-BEN-STAT
'the law to us is given’ (the law is given to us')
WD:NR:032

The most frequent form, -dj-, as shown again in 348 with the verb -ut- 'stick’

incorporating -yphs'-'face’. The sense is of presenting one's face to the Owl:

(348) ...tsing¢ ti'ng: nom@’*de’
tsingh ti:ng: nowade?
'who is it who now the next time
ésukociitadi-ha
esukqhsutadi:ha

e=s=(h)u-at-ygh$=ut-a~di=-ha
FUT-REP-MASC,sg,PAT-SEMI-face-stick-JOIN-BEN-PUNC
'will again one (to) him show (his) face (invite)
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dé  y@ku...

de  yu?ku?

y=u?ku?

FEM.ZOIC,sg, AGT-owl
the owl

Who will go and show his face to the Owl?
TN:24:192:47-193:04

The Benefactive can be used for certain psychological states, as in 349:

(349) ..tung¢ dingtag’

tun¢h diny¢htag?
dinyght-a=Yg=?
snow-JOIN-have-STAT
'when it had snowed
daijac yéwasta-di¢
daiiih yewastd:dih
ye=-wahst-a=di=h
1,58,AGT-good-JOIN-BEN-STAT
that's why [ found it good
dayaja‘sé'ma’ du-dé‘tota’
da?yaZihs¢:wa? du:déhtgta?
d-ayay-Yahsg-wa? d-u=dehtota?
PART-1,sg:3,non.sg-track-HAB SUBST-FEM.ZOIC,sg,PAT-turkey
that [ them track the feathers-stick-out (turkeys)'

‘after a snow-fall [I liked to] follow their tracks in the snow'

TN:36:286:23-29
Compare German es gefiillt mir, or French ¢a me plait.

A meaning of "indirectness" is shown in 350, where the same allomorph appears with
the verb -atphkw="shoot' incorporating =7d-"arrow’. Instead of shooting the Bear directly,
the arrows are shot towards the Bear:
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(350)

.kahg
kah¢?
"first

téyg “datd%kwadi-
teye?datghkwadi:h
te=ye=?d-atQhkw-a-di=h

DU-1,sg,AGT-arrow-shoot-JOIN-BEN-IMP

one side then the other

"da-fiQdig>...
da:nyqnye?
d-anyQnye?
SUBST-bear
the bear’

Run after the bear, and stick arrows all around its body.

TN:28:237:48-50

Examples can be found of pairs where one word has the Benefactive and the other

does not. In 351 -ahkerp~'scared' appears without the Benefactive, while in 352 the verb

has the suffix:

(351)

(352)

.. hidkerg-ha

ng  hihkerg:ha

hu-ahkerg=-ha
MASC,sg,PAT-scared-STAT
he got scared

now

the man was so frightened that he ran away

TN:11:109:11-13

...ahéd%a’

ahdhka?

a-h-ahk-a?

FACT-MASC,sg, AGT-stop-PUNC
'he stopped

No longer frightened, he stopped crying
TN:18:133:28-29

309

dhitt 'wa...

ahaté:?wa?

a-he-ate?we-a?

FACT-MASC,sg, AGT-run.away-PUNC
he runs off

hukérd "di...

huhkerqdi?

hu-ahkerg-di-?

MASC,sg PAT-scared-BEN-STAT
he being scared’



The presence or absence of the Benefactive in 351 and 352 does not lead to translations with
to’ or 'for’ in the gloss. The purpose of the Benefactive here is unclear.

The following example shows the allomorph =75, using the verb -ye=-'"see’. The
addition of the Benefactive changes the meaning from 'see' to 'show to'. The verb =g¢= Y =rSe

"SEMI-see-BEN' in 353 is used when the seeing is for the benefit of the one doing the seeing:

(353) ...ayak§‘'set de-  skat
ayaké:?seh dé:  skit
ay-at-ye-1s-ch
1,sg,PAT-SEMI-see-BEN-IMP
T want to see (let me see it) that one

s@*da'mgc<...

sa?da:weh

sa=7d-awg<h
2,5g,PAT-arrow-have-STAT
thee arrow hast'

Let me see your arrow!
TN:26:202:57-60

Compare the following example of -yg- 'see’ without the Benefactive, which retains the

simple undirected sense of 'see':
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- (359)

(355)

..hlyg* cétp%trg’

huye? Set¢rQ?

hu-ye=? Se=t=(h)[¢]=i?trg=?
MASC,sg,PAT-see-STAT = COIN-CISLOC-MASC,sg, AGT-live-STAT
'he him saw sitting

hasté¢ ng¢

hastéh ngh

out of doors now

haw&’*raha...

huwa Ptraha

hu-Ya?t-rah-a

MASC,sg,PAT-body-get-STAT

he him knocked down (ran against)’

As he saw his uncle sitting out of doors, he ran against him and knocked him down.

TN:28:242:22-26

In 355 the action is directed for the 'old man":

..da® ndé kwaylwa-ng

da:é? de  kwayuwdmeh
t-wa-yuwane=h
CISLOC-FEM.ZOIC,sg, AGT-large-STAT

~ the one the  she is large (the eldest)

ahi’tatosihas

ahu?tatohséhas

a-hu-a?tatQhs-¢-has

FACT-MASC,sg,PAT-basket-have-BEN.PUNC
she (before) him basket lays down
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né ha%g..

ne  hi%t?

ha=?tQ=-?

MASC,sg, AGT-0ld-STAT
the  heisold'

'the elder of the two young women laid down her basket near the old man'
TN:26:203:34-39
The allomorph =g is shown in 356, an excerpt from example 285, where the literal

meaning is 'she raises her voice at him'":

(356) ahukwg "diha‘tg’
ahukwgdihahte?
a-hu-atewed=iha=ht-g¢-?
FACT-MASC,sg,PAT-SEMI-voice-shout-CAUS-BEN-PUNC
'she him scolds'
TN:02:067:13

5.3.7 Dislocative (DISLOC)
The Dislocative adds a sense of motion or change of location to the meaning of the
verb, usually glossed as 'go to' or ‘there(at)". The allomorphs are =d-, =7d-, =he-, ~hs=, and

-25r-. Examples of the first, using the verb -atgdurg="speak', include:

(357) ..n20-rhihg’ ng¢
nadu:rheha? n¢h
n-a?=u=-rh¢-ha?
TEMP-FACT-FEM.ZOIC,sg,PAT-next.day-PUNC
'the next day now
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ahatg:"diitdda

ahate:dutgda

a-h-atgdutg-d-a
FACT-MASC,sg,AGT-speak-DISLOC-PUNC
he went to speak (tell) at

dék@’oma¢ déki"™daré’
dekg?wah  dekyé:daré?
de-t-Ye=dare=?
SUBST-CISLOC-FEM.IND,sg, AGT-live-STAT
that this way that they body live at

ayl"datawety...
ayudatawéti?
ayu-dat-aweti?
FEM.IND,sg,PAT-camp-all
one's village all' *

The young man went the next day to another village not very far away where some
people were living
TN:21:156:39-48

*This word ends in the particle awet?'all', rather then a regular verbal form.
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(358) ..a%yghaQ’® de  tsamghd-h?

a?yehdq? de  tsawghu:hi?
a?-ye~-ihaqQ-?

FACT-FEM.ZOIC,sg,AGT-say-PUNC

'she said the eagle

satg- "ditd: "da¢

sat¢:dutg:dah

s=atgdutQ-d-ah

2,sg,PAT-speak-DISLOC-IMP

you (go and) tell

he‘catg: "ditg’® de¢  kQra%komg* hidé>*
hehSaté:dutq? deh  korahkowe? hidé?
hehs*-ate;duto;-?

2,5g:MASC,sg-speak-IMP

must you him tell the  bird (called K.) also
désa "tsPta’* hi-de dé tawideC..

desetsi?ta? hi:dé de tawideh

the buzzard also the otter

The Eagle said, "Go and call the Korenhkomen, the Buzzard, and the Otter as well!"

TN:19:139:01-12
Note that both forms using the Dislocative in 357 and 358 involve going someplace to do the
speaking.

Compare the previous examples to the following example, 359, of =atedutg-'speak’
without the Dislocative, and thus lacking a sense of motion. Although there is a word present

meaning T go out', the reference is to exiting a nest rather than travelling to a different place.
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(359) .."di» 1"ga-ré’* ajaygha¢

di:? idya:ré? aZay¢hah
a~-y=-Yayg-hah
FACT-1,5g,AGT-go.out-PUNC

T first I go out

ahatg-"duto¢

ahat¢:dutgh

a=h=ateduto=h

FACT-MASC,sg,AGT-speak-PUNC

Thim (will) speak’

walsta’ P! ejarjac...
wahsta?ti?  e:fashih
e-Za-Zu-h
FUT-MASC,sg:2,sg-kill-PUNC
cannot be must he thee kill'

"let me go out first, so that I may tell him not to kill you!"
TN:19:143:16-21

The allomorph -7d- is demonstrated with the verb -akaht-'see’, in examples 360 and
361. Note that the meaning of both includes motion (‘g0 t0') to another location ('there') in

order to 'see’.

(360) ...0-rhgha tu
u:rheha tu
u-rhe;-ha
FEM.ZOIC,sg,PAT-day-STAT
'next day there

hiusé-re’

husd :re?

h=usaer-g-?
TRANS-REP.FACT-MASC,sg,AGT-go-PUNC
he goes
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(361)

sahakata’"da’

sahakdhti?da?

s-=a~h=-akaht-a-?2d-a?
REP-FACT-MASC,sg,AGT-see-JOIN-DISLOC-PUNC
back he goes to see

tay’tu-ra: y§4re
tu?ti:rd: iy¢2rQ?
i=ye=iftrg=?

PROTH-FEM.ZOIC,sg, AGT-live-STAT
at the same place she sits (stays)

ku’'gé"tse¢ waskg’ia’a...
kyuldy¢tseh waske?nya?a

wa=-sketny-a-7a

FEM.ZOIC,sg, AGT-pet-JOIN-DIM
snake she pet small'

The next day, he went to see the imprisoned snake.
TN:21:150:47-151:01

..sakata’*da’

sakahtd?da?

s=akahtea-?d-a?
2,5g,PAT-see-JOIN-DISLOC-IMP
'thou there looketh

Usetiwi-haka’

usetiwithakya?

use-ti-w-ih-akye?
OPT.REP-1,IN,d,AGT-take-STAT-PROG.IMP
thou cometh along

tiha’*set

tuhd ?seht

tu=h-a?=-s-e=ht
REM-TRANS-FACT-2,sg,PAT-go-CAUS-PUNC
there thou goest
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détu tayatotsa’...
detu taya?tohtsa?
t=a=ya-"?tohts-a?
CISLOC-FACT-FEM.ZOIC,sg,AGT-hatch-PUNC
where it hatched'

Go to the place where it was hatched and look carefully. Let me go with you!
TN:32:276:23-29

In 362, showing the allomorph -ke-, two young women are travelling around looking for

the Woolly-One:
(362) ..taha‘ca’ ndhdma tir¢ha’
tuhdh%a? nahqwaa?turé¢ha?
n-a-hgwa=-Ya?t-ur¢-ha?
TEMP-FACT-3,non.sg:MASC,sg-body-find-PUNC
'until that they him find
diwi'ng¢ dgé
dirwi:ngh de
d-i=winQ-h
SUBST-NON.MASC,dl, AGT-pretty-STAT
the young women (pretty) ' that
homatitcake
howdtihSake
hQw=at-ihfay-(h)e

3,non.sg:MASC,sg-SEMI-look.for-DISLOC.PURP
they two him look for

ne h3"dd'wa ...
ne  haddtwa?
ha-da?w-a?
MASC,sg,AGT-cotton-NOUN
the  he is cotton-like’

Until then, the two young women had taken the Owl for the real Woolly-One, whom
they had been looking for.
TN:24:188:09-19
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The allomorph =4s- is illustrated in 363:

(363) ..tah&%se¢
tuhd ?seh
tu=h-a?=-s-e-h
REM-TRANS-FACT-2,sg,PAT-go-PUNC
'there thou go

s§ "dihacg’...

sedihah3e?

s=¢=dih-a~h$-¢?
2,5g,PAT-SEMI-borrow-JOIN-DISLOC-PUNC
thou borrow (it)'

Go over there, and borrow [it)!

TN:29:261:13-14
The final allomorph has the form -27-. The following examples demonstrating this
allomorph are from texts where women are sent to court potential husbands. Example 364,

without the Dislocative, describes being or falling in love:

(364) hi‘sk¢ha’
hihskygha?
hu-hskyq=-ha?
MASC,sg,PAT-love-STAT
'she (with) him fell in love' ('she fell in love with him")
TN:02:063:24

With the Dislocative added, the reference is to going and courting someone to cause them to

fall in love, as in 365 and 366:
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(365)

(366)

0 had*ses
tu ha?seh
h-a?-s-e-h
TRANS-FACT-2,sg,PAT-go-PUNC
'there thou goest

he‘sé‘sko’°crat

hehséhskyq?¥rah
hehse=hskyqQ=?8r-ah
2,5g:MASC,sg-love-DISLOC-IMP
(to) him thou goest to make love

dé  yuCihdrgt ejard*se..
de  yuh¥dhireht e:%ard?seh
e-:Z-ara?se~?
X-MASC,dl,AGT-cousin-STAT
to Y.(n.) his cousin'

There, you must go and make love to the cousin of Yucaharet
TN:04:078:16-20

...he4si-skg’cra¢ dé

hehtsi:skyq?3rah de

hehtsi=hskyq-?3r-ah

2,dl:MASC,sg-love-DISLOC-IMP

'you two (to) him make love yonder the

ha"da’*wa’ Agta’yeC...

hada?wa? nyehti?yeh

ha-datw-a? n-y¢-iht-a=2yeh
MASC,sg,AGT-cotton-NOUN TEMP-FEM.ZOIC,sg,AGT-field-JOIN-LOC
he is soft (cotton-like) now the field on'

Be off and make love to him, the prairie-dweller whose fur is soft like wool!
TN:24:183:29-33
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5.4 Aspects and Temporals

There are five members of the aspect slot: Habitual (HAB), Punctual (PUNC), Stative
(STAT), Purposive (PURP), and Imperative (IMP). The Stative Plural also appears in this
slot. Temporals are also called post-aspectual suffixes, and are treated by Chafe (1967) as
expansions of the aspects. Included are the Progressive (PROG) and the Past (PAST). The

forms used for each aspect vary widely. Representative examples will be shown.

5.4.1 Imperative (IMP)
The Imperative, as the name implies, indicates a command or request. As stated
previously, the Imperative is not a true aspect, but does occupy the same morphological slot.
A common allomorph is «7-, as with -afpdutp-'speak' in 367, where someone is told

to ask someone else to do something:

(367) ..satg"duty’ anQyng§‘huyg’as
sat¢:dutq? inyQnyéhuy¢ 2ahs
s=atedutq=? i=YQny=ghuye?-a-hs
2,5g,PAT-speak-IMP PROTH-1,dl,PAT-shell.comn-JOIN-STAT.PL
'thou (to) her speak she (for) us corn shells
anoiatg’ idhgs
inyQnyat¢?nyghos
i-Yqny-ate?ny=-qhq-hs
PROTH-1,dl,PAT-cook-DISTR-STAT.PL
she (for) us corn cooks
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a*cewatt éya’gmit...

a%ewdht iya?qwih

a-7Sewaht i=ya=2qw=ih

FEM.ZOIC,sg,AGT-sieve PROTH-FEM.ZOIC,sg, AGT-full-STAT
asieve itis full’

ask her to shell and parch a bark trayful of corn for us
TN:28:246:21-25

Example (368) shows the Imperative allomorph =4~ with the verb ~¢- 'go’. Note that

this is a first person imperative (hortative), rather than second:

(368) ...hékwet th  hekwangrap...
hé:kweh tu  hékwané:irag?
he-kw=e=h he-kwa-ngrag-?
TRANS-1,IN,pl, AGT-go-IMP TRANS-IN,pl,AGT-watch-IMP
'let us go there must (shall) we wait'

Let us go there and wait!
TN:39:306:21-23

5.4.2 Habitual (HAB)

The Habitual "restricts the meaning of the verb root to repeated or periodic events,
or to an episodic event in progress but incapable of indefinite prolongation” according to
Chafe (1967:12) for Seneca. In Oneida, according to Lounsbury (1953:85), it is used to
"represent actions which take place at repeated points in time". In Wyandot the Habitual is

used for repetitive, on-going, or continuing activities. It is an imperfective.
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The Habitual allomorphs often, though not always, have an sin them. Forms include

=S=, dfis=, =hs=, =7s= and -es-. The following example shows the =s- allomorph for the

verb -dyay-'marry’:

(369) ...ahat"keri%k taju
ahati?kyerihk tizihti?
a-hati=?t=-Yerih-k ti=Zuhti=?
FACT-MASC,pl, AGT-X-straighten-PUNC 3,non.sg-rules-NOUN
'they straightened out the way (rules)
détagi"gas...
detdyudyds
de-t-ayu=dyas
SUBST-CISLOC-FEM.IND,sg,PAT-marry. HAB
that they get married’

There they settled their marriage customs.
TN:07:098:43-45

The allomorph -a/s- appears in 370, using - Ygkw='plant’;

(370) dggkwa's
de¢kwahs
d-e-Yekw=ahs
PART-FEM.IND,sg, AGT-plant-HAB
'what one plants'
TN:04:091:01

The verb -Zu- 'kill' demonstrates the -As- Habitual allomorph:
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(371) Thajuss
iha:Zuhs
i=ha=Zu-hs
PROTH-MASC,sg, AGT-kill-HAB
'he kills habitually'
TN:23:170:61

The allomorph =7s= is shown with the verb -e-'go' in 372:

(372) ..cg'"da* ¢ hérés
$¢:dd: ci: hé2ré?s
he?=r-e-1s
TRANS-MASC,sg, AGT-go-HAB
nowthen  thereat about he is going

ti¢  ehate’diyd-ru-ja’...
tth  ehaté?diy¢:ni:Za?
e=h-ate=diyqr-uZ-a?
FUT-MASC,sg,AGT-SEMI-sense-play-PUNC
there he is playing'

| After playing at some distance...
TN:29:256:08-12

The last allomorph containing s, -e7s-, is demonstrated with the verb -gt/- 'pitch’, in

reference to a game played by tossing seeds painted black on one side and white on the other:

(373) téhu‘sgke’s
tehuhsQkye?s
te=hu=hs=qti=e?s
DU-MASC,sg,PAT-bowl-pitch-HAB
he seeds plays (seed player) habitually' (‘he plays the seed game')
TN:23:182:35
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Allomorphs beginning with a vowel appear after consonant-final verb roots, while

those beginning with a consonant appear after vowel-final roots.

5.4.3 Punctual (PUNC)

The Punctual "restricts the meaning of the verb root to one unique event" (Chafe
1967:15 on Seneca), or describes "actions which take place at some particular point in time"
(Lounsbury 1953:85 on Oneida). It also requires the addition of a modal prefix: Factual,
Future, or Optative (see chapter 4: Prepronominal Prefixes). In Wyandot the Punctual is
most often used with complete events. It is a perfective.

The Punctual allomorphs are : «g=, =h37=, =gh=, =f=, =G, «af= -ha 7=,and =7=
They are shown in the following examples, starting with =g~ and the verb ~ateduty- 'speak’

plus Dislocative =d-. This is taken from example 357:

(374) ahatg-"ditdda
ahate:dutgda
a-h-atgdutg-d-a
FACT-MASC,sg,AGT-speak-DISLOC-PUNC
'he went to speak (tell) at' (he went to a place to tell people’)
TN:21:156:42

The next shows =Aa?- with = Yayg-'go out':

(375) ..skat 4
skat ah3q?

one at a time
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tawati-jdyg-ha’*

tawati:Zyetha?

t-a=-wati-Yayg-ha?
CISLOC-FACT-NON.MASC,pl, AGT-go.out-PUNC
they came out

détija’a-ha’...

detiZa?4:ha?

de-ti-Za-?-a-ha?
SUBST-3,non.sg-young-STAT-JOIN-DIM
the they are small’

The little bears crawled out, one at a time
TN:19:143:55-59

The allomorph -ak- is demonstrated with the verb ~amhskw= 'go out':

(376) ..daend<  yawalstiC
daeng:h yawahstih
ya=wahst=ih
FEM.ZOIC,sg, AGT-good-STAT
'may be it is good (better)

du-sa‘caraskwac...

du:sah3ardhskwah
d-u:sa=hS-arahskw=-ah
PART-OPT.REP-2,5g, AGT-go.out-PUNC
that back thou goest'

" It might be better for you to go back home
TN:04:083:36-39

=h=is shown using -e-"'go":
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(377) hursawet
hi:saweh
heuisa=wee=h
TRANS-OPT.REP-FEM.ZOIC,sg, AGT-go-PUNC
'for her to go' (‘she should go back’)
TN:02:071:31

The =@ allomorph appears with ~nght-'give'":

(378) ..Awé-t? tahtngt
awé:ti? tahunght
t=a=hu=-noht
CISLOC-FACT-MASC,sg,PAT-give PUNC
"all she (to) him gives

duyéte’

duyéhte?

d-u-yehte=?
SUBST-FEM.ZOIC,sg,PAT-carry-STAT
what back hangs on

da‘st@’‘tslja-mg>...

duhst¢ tsiZa we?

d-u=-hstgtsiZ-awg=?
SUBST-FEM.ZOIC,sg,AGT-have-STAT
what she owns (her property)’

she turned the finery that hung from her neck over to him
TN:22:166:13-18

Using - Ygkw-= 'plant, the allomorph «g?- can be shown:
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(379) daYyag"kwa’
da?ya¢kwa?
d-a?-ya-Yekw-a?
PART-FACT-FEM.ZOIC,sg, AGT-plant-PUNC
'that she planted (the seeds)' ('so she would plant the seeds’)
TN:01:061:11

The allomorph «7- is used in an example with the verb -mzg="climb'":

(380) ..tu¢ diya-rh?
wh  diyd:rhi?
di-ya=rhi-?
PART-FEM.ZOIC,sg,AGT-tree-NOUN
'there the tree

tahara-tg...

tahard:te?

tea~ha-ratg=?

CISLOC-FACT-MASC,sg, AGT-climb-PUNC

there he climbed up'

There he climbed a tree

TN:29:258:60-62

The allomorphs -4-and -?- appear after vowels. The other allomorphs can appear

after either vowels or consonants.

5.4.4 Stative (STAT)
The Stative "restricts the meaning of the verb root to a continuous action or state
without defined temporal limits" (Chafe 1967:12 on Seneca). According to Lounsbury

(1953:85 on Oneida), the Stative is used to "represent states; some of these are the results of
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actions." That is, the Stative functions as a perfect. In Wyandot the Stative also represents
states, describes situations, and performs as a perfect.
Allomorphs of the Stative include =A-, =gh=, =ih= 7= and =¢7=-. The first form

is shown by the verb -uwang- 'large’ (also representing an example of a state):

(381) yargtawarng
yarQtuwa :ngh
ya-rot-uwang-h
FEM.ZOIC,sg,AGT-log-large-STAT
"logs large' (‘big logs")
TN:27:224:52

The allomorph -gh- can be demonstrated with the verb -dmw= 'dance’ (also

representing the Stative as describing a situation):

(382) ..tu¢ hitirdrémee Gsé-mg ™aye...
twh  huti:driweh usé:we?td?yeh
huti-draw-¢h u-sewg?t-a="2yeh
MASC,non.sg,PAT-dance-STAT ~ FEM.ZOIC sg, PAT-stomach-JOIN-LOC
'there they dance his belly on'

people were dancing upon his bosom
TN:24:186:61-63

With the verb - Ygkw- 'plant’ the Stative allomorph is =h=:
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(383) ..ng isEng ng: u-sawiticg
n¢  isen¢ ng: ussawatihge?
usa-wati=h§=¢?
OPT.REP-NON.MASC,pl,AGT-kill-PUNC
'now surely itmightbe they it eatup

doifi§ "kwiC

doiny¢kwih

d=Qi-Y¢kw=ih
PART-1,dl,PAT-plant-STAT
that we two have planted'

Surely the crows by now must have eaten up all that we have sown.
TN:26:198:29-33
Example 383 also demonstrates the use of the Stative as a perfect.

The =7- allomorph can be demonstrated with the verb - Yp-"arrive":

(384) ..kahg"de‘ca’ hésuting’ dé

kahedé?%a? hestitinyg? de
he=s=(h)uti-YqQ=?
TRANS-REP-MASC,non.sg,PAT-arrive-STAT

'there those back they go that

tutiw?® hakoC..

tutiwi? ha:kyqh

t=(h)uti=w=i? h-at-YqQ=h

CISLOC-MASC;non.sg,PAT-take-STAT  MASC,sg, AGT-SEMI-arrive-STAT

they with him had come'

When his [envious] companions reached home...
TN:13:121:01-04

The =97 allomorph appears with =ngrotr= "hunt':
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(385) hung-rdko’
huné:rgkyq?
hu-ngroti=q?
MASC,sg,PAT-hunt-STAT
'he hunted' (he was hunting)
TN:23:177:21
As with the Punctual, the -4-and -7=allomorphs occur after vowels, while the other

allomorphs are not so restricted.

5.4.5 Stative Plural (STAT.PL)
The Stative Plural, -7s-, indicates both a state or condition as well as multiplicity of
the entities in that state or condition. A simple Stative suffix appears in 386, indicating the

size of a =rpt="log":

(386) yarptuwarng¢
yarQtuwa :n¢ch
ya-rQt=uwane-h
FEM.ZOIC,sg, AGT-log-large-STAT
'a big tree'
TN:19:141:58

The Stative Plural appears in 387 for comparison. The same state holds as for 386, but the

argument is in this case plural:
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(387) yarijitiwang's
yarizuhtuwane?s
ya-riZuht-uwang=2s
FEM.ZOIC,sg, AGT-stone-large-STAT
'rocks big'
TN:19:136:38
The Stative Plural need not be used instead of the simple Stative. The motivation for

specifically choosing the Stative Plural is unclear.

5.4.6 Purposive (PURP)
According to Chafe (1967:25) the Purposive "indicates purpose or intention” in
Seneca. It only attaches to verbs of motion. Unlike Seneca, the Dislocative is not required

preceding the Purposive. In 388 the verb -e='go / come' appears with the Purposive:

(388) éro'mé¢ i're?
erQ:wéh iire?
e=r=qwe-h i=r=e=7
X-MASC,sg,AGT-person-NOUN PROTH-MASC,sg,AGT-go-PURP
'he person (man) he walks
sdyuweérd‘s
sayuwerghs
sayu=-YerQ=hs
MASC,sg:FEM.IND,sg-trick-HAB
he is a trickster

'A man was travelling. He was a trickster.'
TN:22:158:27-29
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Note that the lack of a modal prefix (see chapter 4: Prepronominal Prefixes) precludes this
example from being in the Punctual. The form of the aspect suffix also precludes the

possibility of the Habitual, as the verb =e='go / come' has a different Habitual:

(389) ti're’s
titre?s
tisr=e=7s
CISLOC-MASC,sg, AGT-go-HAB
'he walks'
TN:27:226:33; TN:27:231:48

5.4.7 Progressive (PROG)

For Chafe (1967:27) the meaning of the Progressive is "one of progression, often
translatable as along or all along”. In the Wyandot texts the gloss is often based on go on,
or uses the English progressive.

The Progressive appears after the Stative, and can be followed by any aspect. Thus
it is a means of deriving active verbs from stative ones. It has the shape =akye=-. In 390 the
verb -draw~ 'dance’ appears, followed by the Stative =¢h-, the Progressive, and another

Stative =7,

(390) huti"dramghd-ke’
hutidrawgha :kye?
huti-draw-gh-akye=?
MASC,non.sg,PAT-dance-STAT-PROG-STAT
'they dancing go on’ (‘they went on dancing)
TN:03:075:47
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The Progressive followed by the Habitual is shown in 391, using =rpw="remove', its Stative

-¢h=-, and the Habitual =7s.

(391) ..ha%a d&surdmghd-ke’s...
hi?ra destrqwehd tkye?s
de=s=(h)u-rqw=-gh-akye=17s
SUBST-REP-MASC,sg,PAT-remove-STAT-PROG-HAB
‘only that it is undoing’

» he only cared for ruin
TN:01:062:02-03

Finally, a Punctual form appears, based on the Stative form of 'drive', ~urih-, and the

Punctual -2
(392) ...tung twa’ tuhihahgke’
tingh uwa? tuhuhahgkye?
tu=hu=-hah-qkye=?
REM-MASC,sg,PAT-road-travel-STAT
'Just then someone there he road comes along
aydmatiirha-ke’
ayqwaturiha tkye?
a-yQw=at=-urih-akye=?
FACT-3,non.sg:FEM.ZOIC,sg-SEMI-drive. STAT-PROG-PUNC
he them is driving
dudiku%kawa-ng¢ kuto‘skérg<...
dudikytihkuwd :n¢h kyutghskwerght
d-u-d=-ikyuhkw=-uwang-h
SUBST-FEM.ZOIC,sg,PAT-SEMI-crowd-large-STAT
that crowd large (of) cattle'

Someone came along the road, driving a herd of cattle.
TN:29:267:31-38
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Note that in 392 the addition of the Progressive to a Stative form allows it to appear in the

Punctual and thus bear a modal prefix, the Future.

5.4.8 Past (PAST)

The Past has the meaning the name implies. The Past appears after the Habitual or
Stative, but not the Punctual. The forms are =hk=, -kwa?-, -ng?-, -ygh-, and -kgng?-.
It is usually glossed as 'past', 'used to', or using the English past perfect 'had Xed'. The first
example of the Past is the allomorph -ng?-, cognate with Lounsbury (1953)'s Remote-Past.

Here it appears after the verb -gdi- 'make', in its Stative form -gdi-:

(393) hu"datété-rodi-n§¢
hudatet¢:rodi:néh
hud-ate-ter=qdi-ne?
MASC,non.sg,PAT-SEMI-fort-make. STAT-PAST
‘they a palisade (fortress) had built' (‘they had built a fort")
TN:40:312:09-10

The form =Ak- is shown in 394 using -dare- 'live; dwell":

(394) héyadérek
heyadarehk
he-ya~dare=hk
TRANS-FEM.ZOIC,sg, AGT-live.STAT-PAST
'here many lived'
TN:36:287:54
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The allomorph -kwa?- only appears after the Habitual®, and is cognate with Lounsbury's

Former-Past. It is demonstrated here with the Habitual form of =z4a(y)-'look for":

(395) yedetticaki'skwa’
ye?ehtiSdke:?skwa?
ye-?eht=ihfay=(h)e=2s-kwa?
1,sg,AGT-claw-look.for-DISLOC-HAB-PAST
T clawmarks [of the bear] hunt for used to'

T used to go out and hunt for the bear's claw
TN:28:235:34
The form -kgng?-is interesting in that it appears to include the allomorph =ng?-. It also only

appears after the Habitual. The example here uses the Habitual form of -draw='dance':

(396) ye"drawa‘skg'ng’
yedrawdhsk¢:ne?
ye-draw=-ahs-kene?
1,sg,AGT-dance-HAB-PAST
T danced as a rabbit past' ("I used to dance as a rabbit)
TN:25:194:25a-26

This allomorph also only appears after s, whereas the plain =n¢?= form does not occur after
s. Because yalternates with k after s (see 2.14 Phonemic Alternations), the existence of a
form with yin place of kmight be inferred. Although no form * -yeng?- has been found,

=ygh= does appear. In 397 the Past follows the Stative =hay- of the verb =dya-'eat’:

*This may only be due to the dearth of examples.
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(397) ..da% imé- "taye¢
dahk iwé:tayeh
1=we=gt=aye=h
PROTH-FEM.ZOIC,sg,AGT-day-number-STAT
'four days in

7 wes

t&hutigaha-inge...
tehitidyahd :iny¢h
te=huti-dya=hay-yeh
NEG-MASC,non.sg,PAT-eat-STAT-PAST
since they eat they had'
they ate for the first time in four days
TN:37:295:44-48
The existence of -ygh- makes the allomorph -kgng?- appear as perhaps a double Past,

sequencing =ygh=-and =ng7-.

5.5 Attributives
The final set of affixes are the attributives, which can appear on either verbs or nouns.

They include the Augmentative (AUG), Diminutive (DIM), and Populative (POP).

5.5.1 Augmentative (AUG)
The Augmentative adds a meaning of importance or large size. It has the form

~kuwa =;%

*The Augmentative can be followed by =@ =; =4, or =2, apparently in free variation
with =4 being the most frequent.
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(398) klrakuwac
kurdhkuwah
kurah-kuwah
X-AUG”
'wealthy man’
TN:29:264:14

5.5.2 Diminutive (DIM)
The Diminutive is used for small size or young age. The form is =744, as in 399

where the Diminutive is added to a verb meaning ‘young":

(399) hdmitsetPac
howetsghti?ah
h-qwe=-?tsehti=7ah
MASC,sg, AGT-person-young. STAT-DIM*®
'he is small’
TN:27:216:16

5.5.3 Characterizer (CHAR)
The Characterizer is used to indicate characteristic features, as in this description of

when it is raining:

"The first part of this word is unclear. The cognate morpheme in Seneca, -kowa-,
as in kowzehko:wa:h king', is left unglossed in Chafe (1967).

% ~gwe- 'person’ anomalously takes variant pronominal prefixes.
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(400) "o dii‘ska’
Qdithska?
Qdu-hs-ka?
rain-HAB-CHAR
itis rainy
TN:02:074:18

Professional habits often use the Characterizer, as in example 271, repeated here:

(401) dehatéts§’‘ska’
dehatets¢?ska?
de-h-ate=tsg=7s=ka?
SUBST-MASC,sg,AGT-SEMI-cure-HAB-CHAR
'that he self doctor be' ('he is a doctor’)
WM:116

5.5.4 Populative (POP)

Although attributives may appear on nouns or verbs according to Chafe (1967:29),
they primarily appear on verbs in Wyandot. This may simply be due to the overwhelming
number of verbs compared to nouns.

An exception is the Populative, ~rung-", used to characterize inhabitants of an area,

and frequently appearing in names of ethnic groups. It usually appears on nouns:

*The terminations are the same as for the Augmentative, except that -2is the most
frequent. See section 5.5.1 Augmentative.
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(402) dédich-ring’
dedéh¥i:rung?
de-dehSu-runq?
SUBST-hell-POP
‘that the underground is a dweller of (‘underground dweller; devil')
WM:051

(403) dewatdyd-ru'ng’
dewatayu:ru:nqQ?
de-watayu-runq?
SUBST-cave-POP
'that hole in the ground or cave is a dweller (Cherokees)'
WM:280

However, the Populative does occasionally appear on verbs in Wyandot, as in 404 where it

follows the verb =iZu-"'good"

(404) "deygiju-rung’
deyghtihi:rung?
de-ya-iht=iZu-rung?
SUBST-FEM.ZOIC,sg,AGT-field-good-POP
'the it field or land big as a dweller' (Prairie people')
WM.:086
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